SN FOIMET|AA
M 20| FZMBLIE
©el: MASE 9BXIV(2ABS0DI2SE5H) (Er9): &)
3 MNEST -
S - ZB . CRI(EI) - HIRAY - BES 0] apot e HlRE2
ZQIMER|HA 588,564 574,976 13,568
= 135,046
= 51,762
2 401,756
EEPIEXEEES 578,564 564,976 13,588
= 135,046
= 51,762
2 391,756
NASE Cl2XR(AES300IZSB3H) 578,564 564,976 13,568
= 135,046
= 51,762
2 391,756
22204 2elAk| 57,908 0 57,908
= 46,326
= 11,562
101 Q124| 57,908 0 57,908
= 46,326
= 11,562
03 I 2ZN2 4 29,500 0 29,500
OoI220IRA2IAL Q21| 29,500, 0002 29,500
= 23,600
= 5,900
M4 IRIH22RSE 4 28,408 0 28,408
0223012l At Q121| 28,408, 0002 28,408
= 22,726
= 5,682
o230 B 18,000 0 18,000
= 18,000
201 LBr2H] 6,840 0 6.840
= 6,840
01 Al 22l 6,840 0 6.840
O2Z0IZ 21 S 6,840, 0002 6,840
= 6,840
202 01t 11,160 0 1,160
= 11,160
ENE] 1,160 0 1,160
02230 P2=Z iyl
20,00021+63| 201+ 122 2,880
= 2,880
022320 RS 200, 00021453130 3,000
= 3,000
OoIRZ0IZ2IA RO
220,00021%201%12% 5,280
= 5,280
o220 #3201l 110,900 562,816 £451,916
= 88,720
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SN FOIMET A
B2 ROD|EMSEY
tel MASE Jd=2X(A2SHIISSESH) (cHel:&J)
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
= 22,180
307 QI2t0| A 110,900 99,864 11,036
= 88,720
& 22,180
11 A= XAIEE X 110,900 0 110,900
Oo=30 s83=0tl 110,900, 000& 110,900
= 88,720
= 22,180
ol==0¢ =K 2,160 2,160 0
101 Q24| 2,160 2,160 0
03 RIHL2Z2 X E S 2,160 2,160 0
O=g 2,160
0B USA] 130,000 %1128 1,560
(UME=ISES] 50,0002+ 12& 600
olz=20 &=l HES 389,596 0 389,596
308 RHXISHHMSO0IH 389,596 0 389,596
07 IXISH2REZ 389,596 0 389,596
OAZREZ 389,596,000& 389,596
HRES(F0MEX|RA) 10,000 10,000 0
BAEXNE(Q220II2ELSIA) 10,000 10,000 0
JIEtBtEE 10,000 10,000 0
802 Btz It 10,000 10,000 0
0B ueedas 10,000 10,000 0
OBAY(LLOISS, P43, 0T 5)
10,000,000& 10,000
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